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NEW QUESTION 1
You have a set up min-max planning at the subinventory level with the following to source item AS12312 for Organization: M1:

 Source Type: Organization

 Organization: M1
What type of supply request will be generated?

A. Movement request
B. Internal Requisition
C. Purchase Requisition
D. None; this is an invalid setup
E. Intraorganization transfer order

Answer: E

NEW QUESTION 2
You need to load on-hand balances for go live. Which template should be used for this?

A. InventoryBalanceImportTemplate.xlsm
B. InventoryReservationImportTemplate.xlsm
C. InventoryTransactionImportTemplate.xlsm
D. InventoryOnHandBalanceTemplate.xlsm
E. InventoryMiscellaneousTrxTemplate.xlsm

Answer: C

NEW QUESTION 3
Which class do you use to handle an incoming JSON Message as a stream?

A. JsonReader
B. JsonObjectBuilder
C. JsonParser
D. JsonObject

Answer: A

NEW QUESTION 4
Identify the availability type that is applicable for the item quantities maintained in a unit of measure different from the primary unit of measure and is available for
various transactions.

A. Available
B. Secondary Available Quantity
C. Reserved
D. Secondary On-hand Quantity
E. On Hand

Answer: B

NEW QUESTION 5
Which two options constitute the rights and responsibilities of a legal Entity?

A. Account for themselves to regulations, taxation authorities, and owners according to rules specified in the relevant legislation
B. Facilitate resource allocation
C. Manage warehouses
D. Create opportunities for new business
E. Own property

Answer: AE

NEW QUESTION 6
The physical inventory process is carried out for a particular inventory organization with the following parameters:

 Negative quantity Tolerance Percentage is set to 10%

 Approval Type = ‘Always’
The system says that there are 100 on band, but you only counted 95. What will happen?

A. The setup is invalid; it will give an error message.
B. Because the 95 is within the 10% tolerance, it will post without approval.
C. The system will ask a user to recount before posting.
D. An approval will be required before posting.

Answer: B

NEW QUESTION 7
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Given the code fragments:

What code should you add to the body of the updateEmployee method in order to save pending changes to the database?

A. entityManager.merge(emp);
B. Contex
C. Ctx = new InitialContext();UserTransaction utx = (UserTransaction)ctx.lookup(“java:comp/UserTransaction”);utx.begin();entityManager.merge(emp);utx.c
entityManager.lock(emp);EntityManager.merge(emp);
D. entityManager.getTransaction().begin();entityManager.merge(emp);entityManager.getTransaction().comm

Answer: B

NEW QUESTION 8
Your customer has defined three business units: two of the them require the same set of receivables payment terms whereas the third needs a separate set of
receivables payment terms.
How will you receive this requirement?

A. Define one data set with common payment terms and exclude the payment terms feature from the third business unit.
B. Define one reference data set and modify the business unit security.
C. Define two reference data sets, assign the first set to the two business units which will share the same payment terms and second set to the business unit which
need separate payment terms.
D. Define three reference data sets and assign each data set to each business unit.

Answer: C

NEW QUESTION 9
Given:
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You are creating an Alarm management system. When you create a new alarm, you want it to create an alert that is triggered once at the specified time.
Which method should you call on Line 9 to create the timer?

A. timerService.createCalendarTimer(alarmDate, config);
B. timerService.createSingleActionTimer(alarmDate, config);
C. timerService.createIntervalTimer(alarmDate, -l, config);
D. timerService.createTimer(alarmDate, -l, config);

Answer: D

NEW QUESTION 10
You defined an Inventory Organization that is meant to track the contract manufacturing process outsourced to a supplier.
Where do you mention that this Inventory Organization is meant for one particular supplier?

A. Manage Inventory Organization Locations
B. Manage Subinventories
C. Manage Inventory Organizations
D. Manage Contract Manufacturing Relationships
E. Manage Item Organizations

Answer: C

NEW QUESTION 10
Given:

What will be the response to a HEAD request?

A. The findAll() method will be called and the employee list will be returned.
B. The findAll() method will be called and no employees will be returned.
C. No method will be invoked and no error will be returned.
D. No method will be invoked and a 404 error will be returned.

Answer: C

NEW QUESTION 15
You have a high value item that you want to audit on an unscheduled basis to deter pilfering. Which method would you use to do this?

A. ABC Count
B. Physical Inventory Count
C. Automated Cycle Count
D. Manual Cycle Count
E. Blind Inventory Count

Answer: D

NEW QUESTION 16
What is true about Message-Driven Beans (MDBs)?
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A. MDBs can participate in transactions.
B. MDBs are invoked synchronously.
C. Each MDBs can process messages only from a single client.
D. MDBs retain data caches between client calls.

Answer: A

NEW QUESTION 21
Your customer wants to transfer material from facility A to facility B. They are using the interorganization transfer to perform the transaction in the system. Their
requirement is “whenever material is transferred from their facility A to facility B, facility B needs to pay 5% additional amount to the current item cost”.
Which task must be set up to accomplish this requirement?

A. Manage Interorganization Markup
B. Manage Transfer Pricing Rules
C. Manage Cost Plus Pricing
D. Manage Cost Organization Relationships
E. Manage Organization Relationships

Answer: D

NEW QUESTION 22
Your organization is using min-max planning to replenish stock and the planning parameters are set at item organization level with a default subinventory.
Item: A, Min Qty: 25, Max Qty: 150 and Current Level: 20
The item above is purchased from a supplier. Although there is subinventory on hand, the subinventory is below the minimum required level. This should trigger a
Min-Max report entry, but the requisition is not generated. Why?

A. Fixed lot multiplier is not set.
B. No value has been set for the “Min-Max Replenishment Reorder Approval” profile.
C. Min-Max planning can be performed at the Organization level.
D. Rounding the Reorder Quantity is disabled.
E. Item is not defined in Manage Item Subinventories.

Answer: E

NEW QUESTION 27
Given the code fragment:

How are transactions managed?

A. through a single shared transaction across the connection factory
B. through a separate transaction per JMS Consumer
C. through a single transaction for the entire JMS Topic
D. through a single shared transaction in the JMS Context

Answer: D

NEW QUESTION 31
Given the code fragment:
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When the context root is requested http://host:port/context, how does the container resolve this mapping?

A. thirdServlet handles the request.
B. firstServlet handles the request.
C. The container throws an error at startup.
D. secondServlet handles the request.

Answer: C

NEW QUESTION 34
Which statement is true about the WS-Security standard?

A. It is a Java EE standard for protecting SOAP services.
B. It relies on HTTP security mechanism to protect SOAP messages in transmit.
C. It provides message-level security.
D. It defines protocol-specific ways of protecting SOAP messages.

Answer: C

NEW QUESTION 35
Given the code fragment:

Which method should be used on line 3 to enable default validation mechanism?

A. u.setProperty(String, Object)
B. u.setProperty(Schema)
C. u.setEventHandler(ValidationEventHandler)
D. u.setAdapter(XmlAdapter)

Answer: D

NEW QUESTION 36
Your supplier sent you stock against a consigned agreement. You transferred at the stock to owned and generated a consumption advice. An invoice was raised
by the supplier and the payment made. A few days after using some of the quantities of the stock, you realized that some of the stock sent by the supplier is not of
suitable quality and you need to send the stock back.
What is the process of returning the material?

A. You have to cancel the invoice and send the material back without changing the ownership.
B. Return the material and create a debit memo for the supplier.
C. You cannot return consigned items that are invoiced and pai
D. Treat the material as scrap.
E. You have to transfer the ownership of item and perform the return transaction.

Answer: B

NEW QUESTION 38
Given the code fragment from a Facelet page:

On Line 1, you ae asked to insert a search box that displays the text “Search Here” via a placeholder.
Assume searchMB is a valid Managed Bean.
Which two options enable you to create a search box with a placeholder attribute on Line 1? (Choose two.)

A. <h:inputText value=“#(searchMB.query)”><f:param name=“placeholder” value=“Search Here”/></h:inputText>
B. <h:inputText value=“#(searchMB.query)” placeholder=“Search here”/>
C. <input jsf:id=“search” placeholder=“Search here” jsf:value=“# (searchMB.query)”></input>
D. <h:inputText pt:placeholder=“Search Here” value=“#(searchMB.query)”/>
E. <input id=“search” jsf:placeholder=“Search Here” value=“$(searchMB.query)”></input>
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Answer: CE

NEW QUESTION 41
Which interface should you implement if you want to be alerted to the lifecycle events surrounding your task being executed by a ManagedExecutorService?

A. the Runnable Interface
B. the ManagedExecutorTask interface
C. the TaskEventListener interface
D. the ManagedTaskListener interface

Answer: D

NEW QUESTION 46
Given the set of navigation rules:

Which two define a valid flow of view IDs through the application? (Choose two.)

A. home > goodbye > list-widgets
B. dashboard > home > add-widget > list-widgets
C. list-widgets > add-widget > home > dashboard > home
D. home > list-widgets > add-widget > goodbye

Answer: CD

NEW QUESTION 50
You face a supply request exception due to some reason. You realize that you need to make some changes to the Manage Supply Request Exceptions page.
Which action will you perform?

A. The supply request cannot be update
B. The only way is to resolve the error in the source application and resubmit the request.
C. The supply request can be updated using a third-party application only.
D. Update the supply request and submit i
E. The errors will be resolved automatically.
F. Update the supply request and make sure errors are resolved before resubmitting it.

Answer: A

NEW QUESTION 52
Given the JPQL code fragment:
Select pub.title, pub.author, pub.pages FROM Publisher pub
Which two clauses do you add to this JPQL query to retrieve only those books with between 500 and 750 total pages? (Choose two.)

A. WHERE MIN(pages) >= 500 AND MAX(pages) <= 750
B. WHERE pub.pages <= 500 OR pub.pages >= 750
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C. WHERE pub.pages BETWEEN 500 AND 750
D. WHERE pub.pages <= 500 AND pub.pages >=750

Answer: AB

NEW QUESTION 57
You have orders that were due for shipping last week, but as for now they have not been shipped. Which dashboard should you check at the end of the day to
determine which orders have been shipped?

A. Past Due Shipments
B. Orders Completed in Full
C. Past Due, Completed Today
D. Due Today, Not Completed
E. Past Due, Not Completed

Answer: B

NEW QUESTION 60
Which action invokes supply chain orchestration and transfer of data to supply chain orchestration Interface tables?

A. creating Purchase Order Receipt
B. running a scheduled process called “Create Transactions”
C. running Min-Max Planning
D. creating a new Inventory Organization for execution of supply chain orchestration

Answer: C

NEW QUESTION 64
Identify three statements that are true about reservations in back-to-back processing.

A. Partial fulfillment of reservations is supported.
B. Changes to reservation in Oracle Logistics Cloud leads to exceptions, which are displayed in the Supply Chain Orchestration work area.
C. Reservations cannot be created for back-to-back On Hand supply orders.
D. One reservation is created for a demand and supply.
E. Reservation supplies that can be reserved are Purchase Orders, Transfer Orders, Work Orders, and On Hand inventory.

Answer: BDE

NEW QUESTION 67
Which three applications originate a buy request that is received by supply chain orchestration?

A. Purchasing
B. Inventory
C. Order Management
D. Planning
E. Self Service Procurement
F. Accounts Payable

Answer: BCD

NEW QUESTION 68
Identify two valid WebSocket message types for which you can register handlers. (Choose two.)

A. Error Message
B. Binary Message
C. Pong Message
D. Ping Message

Answer: BC

NEW QUESTION 71
Which type allows you to share servlet attributes across your entire web application?

A. ServletContext
B. HttpSession
C. ServletRequest
D. ServletConfig

Answer: A

NEW QUESTION 76
Given:
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If an exception is thrown inside the if block, what effect will it have on the transaction?

A. The transaction will be committed.
B. The transaction will be suspended.
C. The transaction will be rolled back.

Answer: C

NEW QUESTION 79
Give the code fragment:

And the code fragment:

The sendConfirmation() and reserve() methods should be executed in the same transactional context. Which transaction attributes do you ensure this?

A. Add annotations:@TransactionAttribute (TransactionAttributeType.REQUIRES_NEW) at line 2,@Transactional at line 9 and@TransactionAttribute
((TransactionAttributeType.MANDATORY) atline 12
B. No additional annotations are required.
C. Add annotations:@TransactionAttribute (TransactionAttributeType.REQUIRED) at line 2,@Transactional at line 9 and@TransactionAttribute
((TransactionAttributeType.REQUIRES_NEW) at line 12
D. Add annotations:@TransactionAttribute (TransactionAttributeType.MANDATORY) at line 2,@Transactional at line 9 and@TransactionAttribute
((TransactionAttributeType.REQUIRES_NEW) at line 12

Answer: D

NEW QUESTION 84
Your client wants the purchasers to be able to run the min-max for items under their control and then manage the POs created out of these.
Which parameters can they use to be able to do this?

A. Planning Level
B. Sort by
C. From Item to Item
D. From Buyer to Buyer
E. From Planner to Planner

Answer: C

NEW QUESTION 87
Given the code fragment:
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Assuming this bean is used only in the code fragment above, how long will the injected Bean instance be available?

A. for the lifetime of the enterprise application
B. for the lifetime of the request
C. for the lifetime of the session
D. for the lifetime of the Service object

Answer: D

NEW QUESTION 91
Given the code fragments:

Which action completes this composite primary key implementation?

A. Add @IdClass annotation at line 1.
B. Add @Embeddable annotation at line 1 and replace both @Id annotations with @EmbeddedId annotations.
C. Add @IdClass(ContactId.class) annotation at line 2.
D. Add @Embeddable annotation at line 1 and @EmbeddedId(ContactId.class) at line 2.

Answer: D

NEW QUESTION 96
In Supply Chain Orchestration, Automated Change Management performs which two functions?

A. change to need by dates of a purchase order
B. splitting of a sales order
C. changing the ship method on a sales order
D. change to item attributes
E. changing the supplier on a purchase order

Answer: AB

NEW QUESTION 97
Which statement is true about Java methods that are exposed as Web Service operations by using JAX-WS API?

A. The @WebResult annotation must exist.
B. Method parameters and return types must be JAXB compatible.
C. Method parameters must be declared by using @WebParam.
D. The @WebMethod annotation must exist.

Answer: D

NEW QUESTION 100
You created two filters for your web application by using the @WebFilter annotation, one for authorization and the other for narrowing results by the provided
search criteria. The authorization filter must be invoked first.
How can you specify this?
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A. setting the priority attribute of the @WebFilter annotation for each of the filters
B. placing the filter mapping elements in the required order in the web.xml deployment descriptor
C. placing @WebFilterMapping annotations in the required order
D. specifying the filter precedence order by using the @Priority annotation

Answer: A

NEW QUESTION 104
Which three statements are true for an expense destination transfers that does NOT require a receipt at destination inventory organization?

A. There is no cost associated to the transaction.
B. There is no put away transaction in Inventory since the item is expensed.
C. A receipt is required on interorganization expense destination transfer orders between the from and to organizations.
D. The transfer order is considered received and delivered at the time of shipment.
E. The destination inventory is not incremented.

Answer: ABE

NEW QUESTION 109
What are two outcomes when a lot expires on an item with lot control enabled?

A. It remains an inventory, but is not considered on-hand when the user is performing min-max or reorder point planning calculations.
B. It is issued out of stores.
C. It cannot be transacted.
D. It is not included in cycle counts.
E. It cannot be reserved for a date beyond the expiration date.

Answer: AE

NEW QUESTION 111
Given the code fragment:

How can you get all property names of a JMS message in the JMS consumer onMessage operation?

A. String [] props = msg.getPropertyNames();
B. Enumeration props = msg.getPropertyNames();. Iterator props = msg.getPropertyNames();
C. List<String> props = msg.getProperties();

Answer: A

NEW QUESTION 114
Your class requires multiple resources defined, as shown in the following:

Which annotation do you use to group multiple @Resource declarations together for class-based injection, replacing <XXXX> in the code above?

A. @Resources
B. @Resource
C. @ResourceGroup
D. @ResourceCollection

Answer: B

NEW QUESTION 116
Which annotation allows a request to be executed with another Principal’s identity?

A. It is not possible to execute a request with another Principal’s identity.
B. @UseIdentity
C. @RolesAllowed
D. @Runs

Answer: C

NEW QUESTION 118
Your client has decided that Discrete Manufacturing will be implemented at a future stage, so any new supply from current manufacturing will be added to current
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inventory by the Open Transactions Interface. The immediate requirement is to go live with Inventory and Order Management.
Which two seeded transaction types can be omitted for material status control?

A. All Transaction Types Related to Work in Process
B. Average Cost Update
C. Backflush Subinventory Transfer
D. Miscellaneous Issues and Receipts
E. All Internal Transactions

Answer: AC

NEW QUESTION 122
The Applications Development Framework Desktop Integration (ADFdi) user interface is supported in Oracle Fusion Receiving, Inventory Management, and
Shipping products.
Identify four ADFdi user interfaces that are supported.

A. Upload ASN or ASBN
B. Manage Lot/Serial Interface
C. Manage Inventory Transaction Correction in Spreadsheet
D. Review Receipts Interface
E. Review Count Interface Records
F. Manage Shipment Message Interface

Answer: BCDF

NEW QUESTION 123
How can you configure, in a portable way, the number of threads used by a ManagedExecutorService?

A. programmatically, using a ManagedExecutorService
B. using the ManagedExecutors utility class to define the execution properties
C. This cannot be done because this configuration is dependent on the Java EE Product Provider.
D. configuring the thread pool info in the deployment descriptor

Answer: A

NEW QUESTION 124
......
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NEW QUESTION 1
You have a set up min-max planning at the subinventory level with the following to source item AS12312 for Organization: M1:

 Source Type: Organization

 Organization: M1
What type of supply request will be generated?

A. Movement request
B. Internal Requisition
C. Purchase Requisition
D. None; this is an invalid setup
E. Intraorganization transfer order

Answer: E

NEW QUESTION 2
You need to load on-hand balances for go live. Which template should be used for this?

A. InventoryBalanceImportTemplate.xlsm
B. InventoryReservationImportTemplate.xlsm
C. InventoryTransactionImportTemplate.xlsm
D. InventoryOnHandBalanceTemplate.xlsm
E. InventoryMiscellaneousTrxTemplate.xlsm

Answer: C

NEW QUESTION 3
Which class do you use to handle an incoming JSON Message as a stream?

A. JsonReader
B. JsonObjectBuilder
C. JsonParser
D. JsonObject

Answer: A

NEW QUESTION 4
Identify the availability type that is applicable for the item quantities maintained in a unit of measure different from the primary unit of measure and is available for
various transactions.

A. Available
B. Secondary Available Quantity
C. Reserved
D. Secondary On-hand Quantity
E. On Hand

Answer: B

NEW QUESTION 5
Which two options constitute the rights and responsibilities of a legal Entity?

A. Account for themselves to regulations, taxation authorities, and owners according to rules specified in the relevant legislation
B. Facilitate resource allocation
C. Manage warehouses
D. Create opportunities for new business
E. Own property

Answer: AE

NEW QUESTION 6
The physical inventory process is carried out for a particular inventory organization with the following parameters:

 Negative quantity Tolerance Percentage is set to 10%

 Approval Type = ‘Always’
The system says that there are 100 on band, but you only counted 95. What will happen?

A. The setup is invalid; it will give an error message.
B. Because the 95 is within the 10% tolerance, it will post without approval.
C. The system will ask a user to recount before posting.
D. An approval will be required before posting.

Answer: B

NEW QUESTION 7
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Given the code fragments:

What code should you add to the body of the updateEmployee method in order to save pending changes to the database?

A. entityManager.merge(emp);
B. Contex
C. Ctx = new InitialContext();UserTransaction utx = (UserTransaction)ctx.lookup(“java:comp/UserTransaction”);utx.begin();entityManager.merge(emp);utx.c
entityManager.lock(emp);EntityManager.merge(emp);
D. entityManager.getTransaction().begin();entityManager.merge(emp);entityManager.getTransaction().comm

Answer: B

NEW QUESTION 8
Your customer has defined three business units: two of the them require the same set of receivables payment terms whereas the third needs a separate set of
receivables payment terms.
How will you receive this requirement?

A. Define one data set with common payment terms and exclude the payment terms feature from the third business unit.
B. Define one reference data set and modify the business unit security.
C. Define two reference data sets, assign the first set to the two business units which will share the same payment terms and second set to the business unit which
need separate payment terms.
D. Define three reference data sets and assign each data set to each business unit.

Answer: C

NEW QUESTION 9
Given:
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You are creating an Alarm management system. When you create a new alarm, you want it to create an alert that is triggered once at the specified time.
Which method should you call on Line 9 to create the timer?

A. timerService.createCalendarTimer(alarmDate, config);
B. timerService.createSingleActionTimer(alarmDate, config);
C. timerService.createIntervalTimer(alarmDate, -l, config);
D. timerService.createTimer(alarmDate, -l, config);

Answer: D

NEW QUESTION 10
You defined an Inventory Organization that is meant to track the contract manufacturing process outsourced to a supplier.
Where do you mention that this Inventory Organization is meant for one particular supplier?

A. Manage Inventory Organization Locations
B. Manage Subinventories
C. Manage Inventory Organizations
D. Manage Contract Manufacturing Relationships
E. Manage Item Organizations

Answer: C

NEW QUESTION 10
Given:

What will be the response to a HEAD request?

A. The findAll() method will be called and the employee list will be returned.
B. The findAll() method will be called and no employees will be returned.
C. No method will be invoked and no error will be returned.
D. No method will be invoked and a 404 error will be returned.

Answer: C

NEW QUESTION 15
You have a high value item that you want to audit on an unscheduled basis to deter pilfering. Which method would you use to do this?

A. ABC Count
B. Physical Inventory Count
C. Automated Cycle Count
D. Manual Cycle Count
E. Blind Inventory Count

Answer: D

NEW QUESTION 16
What is true about Message-Driven Beans (MDBs)?
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A. MDBs can participate in transactions.
B. MDBs are invoked synchronously.
C. Each MDBs can process messages only from a single client.
D. MDBs retain data caches between client calls.

Answer: A

NEW QUESTION 21
Your customer wants to transfer material from facility A to facility B. They are using the interorganization transfer to perform the transaction in the system. Their
requirement is “whenever material is transferred from their facility A to facility B, facility B needs to pay 5% additional amount to the current item cost”.
Which task must be set up to accomplish this requirement?

A. Manage Interorganization Markup
B. Manage Transfer Pricing Rules
C. Manage Cost Plus Pricing
D. Manage Cost Organization Relationships
E. Manage Organization Relationships

Answer: D

NEW QUESTION 22
Your organization is using min-max planning to replenish stock and the planning parameters are set at item organization level with a default subinventory.
Item: A, Min Qty: 25, Max Qty: 150 and Current Level: 20
The item above is purchased from a supplier. Although there is subinventory on hand, the subinventory is below the minimum required level. This should trigger a
Min-Max report entry, but the requisition is not generated. Why?

A. Fixed lot multiplier is not set.
B. No value has been set for the “Min-Max Replenishment Reorder Approval” profile.
C. Min-Max planning can be performed at the Organization level.
D. Rounding the Reorder Quantity is disabled.
E. Item is not defined in Manage Item Subinventories.

Answer: E

NEW QUESTION 27
Given the code fragment:

How are transactions managed?

A. through a single shared transaction across the connection factory
B. through a separate transaction per JMS Consumer
C. through a single transaction for the entire JMS Topic
D. through a single shared transaction in the JMS Context

Answer: D

NEW QUESTION 31
Given the code fragment:
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When the context root is requested http://host:port/context, how does the container resolve this mapping?

A. thirdServlet handles the request.
B. firstServlet handles the request.
C. The container throws an error at startup.
D. secondServlet handles the request.

Answer: C

NEW QUESTION 34
Which statement is true about the WS-Security standard?

A. It is a Java EE standard for protecting SOAP services.
B. It relies on HTTP security mechanism to protect SOAP messages in transmit.
C. It provides message-level security.
D. It defines protocol-specific ways of protecting SOAP messages.

Answer: C

NEW QUESTION 35
Given the code fragment:

Which method should be used on line 3 to enable default validation mechanism?

A. u.setProperty(String, Object)
B. u.setProperty(Schema)
C. u.setEventHandler(ValidationEventHandler)
D. u.setAdapter(XmlAdapter)

Answer: D

NEW QUESTION 36
Your supplier sent you stock against a consigned agreement. You transferred at the stock to owned and generated a consumption advice. An invoice was raised
by the supplier and the payment made. A few days after using some of the quantities of the stock, you realized that some of the stock sent by the supplier is not of
suitable quality and you need to send the stock back.
What is the process of returning the material?

A. You have to cancel the invoice and send the material back without changing the ownership.
B. Return the material and create a debit memo for the supplier.
C. You cannot return consigned items that are invoiced and pai
D. Treat the material as scrap.
E. You have to transfer the ownership of item and perform the return transaction.

Answer: B

NEW QUESTION 38
Given the code fragment from a Facelet page:

On Line 1, you ae asked to insert a search box that displays the text “Search Here” via a placeholder.
Assume searchMB is a valid Managed Bean.
Which two options enable you to create a search box with a placeholder attribute on Line 1? (Choose two.)

A. <h:inputText value=“#(searchMB.query)”><f:param name=“placeholder” value=“Search Here”/></h:inputText>
B. <h:inputText value=“#(searchMB.query)” placeholder=“Search here”/>
C. <input jsf:id=“search” placeholder=“Search here” jsf:value=“# (searchMB.query)”></input>
D. <h:inputText pt:placeholder=“Search Here” value=“#(searchMB.query)”/>
E. <input id=“search” jsf:placeholder=“Search Here” value=“$(searchMB.query)”></input>
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Answer: CE

NEW QUESTION 41
Which interface should you implement if you want to be alerted to the lifecycle events surrounding your task being executed by a ManagedExecutorService?

A. the Runnable Interface
B. the ManagedExecutorTask interface
C. the TaskEventListener interface
D. the ManagedTaskListener interface

Answer: D

NEW QUESTION 46
Given the set of navigation rules:

Which two define a valid flow of view IDs through the application? (Choose two.)

A. home > goodbye > list-widgets
B. dashboard > home > add-widget > list-widgets
C. list-widgets > add-widget > home > dashboard > home
D. home > list-widgets > add-widget > goodbye

Answer: CD

NEW QUESTION 50
You face a supply request exception due to some reason. You realize that you need to make some changes to the Manage Supply Request Exceptions page.
Which action will you perform?

A. The supply request cannot be update
B. The only way is to resolve the error in the source application and resubmit the request.
C. The supply request can be updated using a third-party application only.
D. Update the supply request and submit i
E. The errors will be resolved automatically.
F. Update the supply request and make sure errors are resolved before resubmitting it.

Answer: A

NEW QUESTION 52
Given the JPQL code fragment:
Select pub.title, pub.author, pub.pages FROM Publisher pub
Which two clauses do you add to this JPQL query to retrieve only those books with between 500 and 750 total pages? (Choose two.)

A. WHERE MIN(pages) >= 500 AND MAX(pages) <= 750
B. WHERE pub.pages <= 500 OR pub.pages >= 750
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C. WHERE pub.pages BETWEEN 500 AND 750
D. WHERE pub.pages <= 500 AND pub.pages >=750

Answer: AB

NEW QUESTION 57
You have orders that were due for shipping last week, but as for now they have not been shipped. Which dashboard should you check at the end of the day to
determine which orders have been shipped?

A. Past Due Shipments
B. Orders Completed in Full
C. Past Due, Completed Today
D. Due Today, Not Completed
E. Past Due, Not Completed

Answer: B

NEW QUESTION 60
Which action invokes supply chain orchestration and transfer of data to supply chain orchestration Interface tables?

A. creating Purchase Order Receipt
B. running a scheduled process called “Create Transactions”
C. running Min-Max Planning
D. creating a new Inventory Organization for execution of supply chain orchestration

Answer: C

NEW QUESTION 64
Identify three statements that are true about reservations in back-to-back processing.

A. Partial fulfillment of reservations is supported.
B. Changes to reservation in Oracle Logistics Cloud leads to exceptions, which are displayed in the Supply Chain Orchestration work area.
C. Reservations cannot be created for back-to-back On Hand supply orders.
D. One reservation is created for a demand and supply.
E. Reservation supplies that can be reserved are Purchase Orders, Transfer Orders, Work Orders, and On Hand inventory.

Answer: BDE

NEW QUESTION 67
Which three applications originate a buy request that is received by supply chain orchestration?

A. Purchasing
B. Inventory
C. Order Management
D. Planning
E. Self Service Procurement
F. Accounts Payable

Answer: BCD

NEW QUESTION 68
Identify two valid WebSocket message types for which you can register handlers. (Choose two.)

A. Error Message
B. Binary Message
C. Pong Message
D. Ping Message

Answer: BC

NEW QUESTION 71
Which type allows you to share servlet attributes across your entire web application?

A. ServletContext
B. HttpSession
C. ServletRequest
D. ServletConfig

Answer: A

NEW QUESTION 76
Given:
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If an exception is thrown inside the if block, what effect will it have on the transaction?

A. The transaction will be committed.
B. The transaction will be suspended.
C. The transaction will be rolled back.

Answer: C

NEW QUESTION 79
Give the code fragment:

And the code fragment:

The sendConfirmation() and reserve() methods should be executed in the same transactional context. Which transaction attributes do you ensure this?

A. Add annotations:@TransactionAttribute (TransactionAttributeType.REQUIRES_NEW) at line 2,@Transactional at line 9 and@TransactionAttribute
((TransactionAttributeType.MANDATORY) atline 12
B. No additional annotations are required.
C. Add annotations:@TransactionAttribute (TransactionAttributeType.REQUIRED) at line 2,@Transactional at line 9 and@TransactionAttribute
((TransactionAttributeType.REQUIRES_NEW) at line 12
D. Add annotations:@TransactionAttribute (TransactionAttributeType.MANDATORY) at line 2,@Transactional at line 9 and@TransactionAttribute
((TransactionAttributeType.REQUIRES_NEW) at line 12

Answer: D

NEW QUESTION 84
Your client wants the purchasers to be able to run the min-max for items under their control and then manage the POs created out of these.
Which parameters can they use to be able to do this?

A. Planning Level
B. Sort by
C. From Item to Item
D. From Buyer to Buyer
E. From Planner to Planner

Answer: C

NEW QUESTION 87
Given the code fragment:
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Assuming this bean is used only in the code fragment above, how long will the injected Bean instance be available?

A. for the lifetime of the enterprise application
B. for the lifetime of the request
C. for the lifetime of the session
D. for the lifetime of the Service object

Answer: D

NEW QUESTION 91
Given the code fragments:

Which action completes this composite primary key implementation?

A. Add @IdClass annotation at line 1.
B. Add @Embeddable annotation at line 1 and replace both @Id annotations with @EmbeddedId annotations.
C. Add @IdClass(ContactId.class) annotation at line 2.
D. Add @Embeddable annotation at line 1 and @EmbeddedId(ContactId.class) at line 2.

Answer: D

NEW QUESTION 96
In Supply Chain Orchestration, Automated Change Management performs which two functions?

A. change to need by dates of a purchase order
B. splitting of a sales order
C. changing the ship method on a sales order
D. change to item attributes
E. changing the supplier on a purchase order

Answer: AB

NEW QUESTION 97
Which statement is true about Java methods that are exposed as Web Service operations by using JAX-WS API?

A. The @WebResult annotation must exist.
B. Method parameters and return types must be JAXB compatible.
C. Method parameters must be declared by using @WebParam.
D. The @WebMethod annotation must exist.

Answer: D

NEW QUESTION 100
You created two filters for your web application by using the @WebFilter annotation, one for authorization and the other for narrowing results by the provided
search criteria. The authorization filter must be invoked first.
How can you specify this?
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A. setting the priority attribute of the @WebFilter annotation for each of the filters
B. placing the filter mapping elements in the required order in the web.xml deployment descriptor
C. placing @WebFilterMapping annotations in the required order
D. specifying the filter precedence order by using the @Priority annotation

Answer: A

NEW QUESTION 104
Which three statements are true for an expense destination transfers that does NOT require a receipt at destination inventory organization?

A. There is no cost associated to the transaction.
B. There is no put away transaction in Inventory since the item is expensed.
C. A receipt is required on interorganization expense destination transfer orders between the from and to organizations.
D. The transfer order is considered received and delivered at the time of shipment.
E. The destination inventory is not incremented.

Answer: ABE

NEW QUESTION 109
What are two outcomes when a lot expires on an item with lot control enabled?

A. It remains an inventory, but is not considered on-hand when the user is performing min-max or reorder point planning calculations.
B. It is issued out of stores.
C. It cannot be transacted.
D. It is not included in cycle counts.
E. It cannot be reserved for a date beyond the expiration date.

Answer: AE

NEW QUESTION 111
Given the code fragment:

How can you get all property names of a JMS message in the JMS consumer onMessage operation?

A. String [] props = msg.getPropertyNames();
B. Enumeration props = msg.getPropertyNames();. Iterator props = msg.getPropertyNames();
C. List<String> props = msg.getProperties();

Answer: A

NEW QUESTION 114
Your class requires multiple resources defined, as shown in the following:

Which annotation do you use to group multiple @Resource declarations together for class-based injection, replacing <XXXX> in the code above?

A. @Resources
B. @Resource
C. @ResourceGroup
D. @ResourceCollection

Answer: B

NEW QUESTION 116
Which annotation allows a request to be executed with another Principal’s identity?

A. It is not possible to execute a request with another Principal’s identity.
B. @UseIdentity
C. @RolesAllowed
D. @Runs

Answer: C

NEW QUESTION 118
Your client has decided that Discrete Manufacturing will be implemented at a future stage, so any new supply from current manufacturing will be added to current
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inventory by the Open Transactions Interface. The immediate requirement is to go live with Inventory and Order Management.
Which two seeded transaction types can be omitted for material status control?

A. All Transaction Types Related to Work in Process
B. Average Cost Update
C. Backflush Subinventory Transfer
D. Miscellaneous Issues and Receipts
E. All Internal Transactions

Answer: AC

NEW QUESTION 122
The Applications Development Framework Desktop Integration (ADFdi) user interface is supported in Oracle Fusion Receiving, Inventory Management, and
Shipping products.
Identify four ADFdi user interfaces that are supported.

A. Upload ASN or ASBN
B. Manage Lot/Serial Interface
C. Manage Inventory Transaction Correction in Spreadsheet
D. Review Receipts Interface
E. Review Count Interface Records
F. Manage Shipment Message Interface

Answer: BCDF

NEW QUESTION 123
How can you configure, in a portable way, the number of threads used by a ManagedExecutorService?

A. programmatically, using a ManagedExecutorService
B. using the ManagedExecutors utility class to define the execution properties
C. This cannot be done because this configuration is dependent on the Java EE Product Provider.
D. configuring the thread pool info in the deployment descriptor

Answer: A

NEW QUESTION 124
......
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